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 Abykxj‡bi Rb¨ m„Rbkxj cÖkœ e¨vsK (DËims‡KZ) 
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 Abykxjbx 3.2 Gi cÖkœ I mgvavb 
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K − 10 L 0 M 1  10 
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(+5) + (+5) = + (5 + 5) = + 10 = 10 

 (−5) + (−4)

 − 9 L −1 M + 1 N + 9 

  (−2) + (−15) + 4 + 12

K − 2  − 1 M 1 N 33 

 5 + (−5) = 

K − 5  0 M 
1

5
N 5 

  (+30) + (−22) + (−62) + (+ 44)  

 − 10 L 10 M 12 N − 12 

 − (−5) + (−2) + (+6) =  

K 8  9 M 10 N 12 

  (+3) (−3)

K − 9 L 0 M 1  6 

 (− 4)
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K a  0 M −a N 1 
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 i. (+ 5) (− 5)
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8
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 iii. 30 + (−40) + (−10) = 0 
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24

 

 L

M N

 

K 0 L 24  −24 N 42 

 1 

K 48 L 42  23 N 0 

 

K 1 L 0  48 N 42

− 3 

 − 3

K − 3  3 M 1 N 0 

 −3

K 3  0 M 1 N − 3 

− 7, − 9, 4, 8

 

K − 7 L − 9 M 4  8 

 

 −9 −7 −5 0 4 8 
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K L 

 N  

 

K −5 L 5 M − 9  9 

 

 0 L 1 M 9 N 18 



 Abykxjbx 3.3 Gi ¸iæZ¡c~Y© Z_¨vewj 



4 − ( − 2) = 4 + 2 = 6; −7 − ( − 2) = − 7 + 2 = − 5 

 Abykxjbx 3.3 Gi cÖkœ I mgvavb  

−a 

 + a  − a2  
1

a
  − 

1

a

12 

−

 − 24  − 12  0  24

     − 15 = − 10;      

 − 25  − 5  25  5

− 7, − 8, − 9

 − 15  − 1  1  15

A

 A  − 15  A  − 90  A  97

 A  − 97

A = 45 − (11) B = 57 + (− 4) 

(i) A = 56 (ii) B = − 53 (iii) A − B = 

3; 

 i  ii  i  iii  ii  iii  i, ii  iii 

 A = 45 − (− 11) i  

iii

0 1 2 43

(i)  (ii)  

 (iii)  

 i  ii  i  iii  ii  iii  i, ii  iii 

0 0

    

3

5

 −8  −2  2  8

35 − 20 

 35 − 20 

  = 35 − ( + 20) 

 = 35 + (+ 20

= 35 − 20 

= 15 (Ans.) 

72 − 90 

 72 − 90 

  = 72 − ( + 90) 

 = 72 + (+ 90

  = 72 − 90 

  = − 18 (Ans.) 

( − 15) − ( − 18) 

 (−15) − ( − 18)



  = ( −15) + ( − 18 

= −15 + 18 

   = 3 (Ans.) 

 ( − 20) − 13

   ( − 20) − 13 

  = ( − 20) − ( + 13) 

  = − 20 + ( +13  

  = − 20 − 13 

  = − 33 (Ans.) 

23 − ( − 12) 

 23 − ( − 12) 

  = 23 + ( −12  

= 23 + 12 

  = 35 (Ans.) 

( − 32) − ( − 40) 

 (− 32) − ( − 40) 

  = − 32 + ( − 40 

− 32 + 40

8 (Ans.) 

 

( − 3) + ( − 6) ( − 3) − ( − 6)

( −3) + ( − 6) ( − 3) − ( − 6) 

  − 9 ( − 3) + 6 

   − 9  3 

 ( − 3) + (− 6)  (− 3) − (−6) (Ans.) 

( − 21) − ( − 10) ( − 31) + ( − 11)

( − 21) − ( −10) ( − 31) + ( − 

11)  

  − 21 + 10 − 31 − 11 

  −11  − 42 

  (−21) − (−10)  (−31) + (−11) (Ans.) 

45 − ( − 11) 57 + ( − 4)

45 − ( − 11) 57 + ( − 4)

45 + 11 57 − 4 

  56   53 

  45 − (− 11)  57 + (−4) (Ans.) 

( − 25) − ( − 42)  ( − 42) − ( − 25)

( − 25) − ( − 42)  ( − 42) − ( − 25) 

  − 25 + 42 − 42 + 25 

  17  − 17 

  − 52 − (−42)  ( − 42) − (−25) (Ans.) 

( − 8) + = 0 

 : ( − 8) + = 0 

   8 + ( − 8) + = 8 + 0 [ −8

0 +      = 8

        = 8 

 8

   (−8) +   8  0 (Ans.) 

13 +     = 10

 13 +     = 10 

   (− 13) + 13 +       = ( − 13) + 10 

  [ 13

0 +       = − 3 

        = − 3 

 −3

 13 +   − 3   = 10 (Ans.) 

12 +  ( − 12) =     



12 +  ( − 12) =      

12 + (− 12) = 12 − 12 = 0 

 0

 12 + ( − 12) =    0    (Ans.)

( − 4) +     − 12 

 ( − 4) +     − 12 

  4 + ( − 4) +      4 − 12) 

[ (− 4)

0 +       = 4 − 12 

        = − 8 

 (− 8

 −4  −8  = −12 (Ans.)

    − 15 = −10 

     − 15 = −10 

       − 15 + 15 = − 10 + 15 

(−15)

      + 0 = 5 

         = 5 

 5

   5   − 15 = −10 (Ans.)

( − 7) − 8 − ( − 25) 

 ( − 7) − 8 − ( − 25) 

 = ( −7) − 8 + (−25 

 = (− 7) − 8 + 25 

 = − 7 − 8 + 25 

 = − 15 + 25 

 = 10 (Ans.) 

(−13) + 32 − 8 − 1 

 (−13) + 32 − 8 − 1 

   = (−13) + 32 − 9 

   = − 13 − 9 + 32 

   = − 22 + 32 

   = 10 (Ans.) 

(−7) + ( − 8) + ( − 90) 

 ( − 7) + ( − 8) + ( − 90) 

   = − 7 − 8 + (− 90) 

   = − 15 + (− 90) 

   = − 15 − 90 

   = − 105 (Ans.)

50 − ( − 40) − ( − 2) 

  50 − ( − 40) − ( −2) 

   = 50 + ( − 40 

− 2

= 50 + 40 + 2 

   = 92 (Ans.) 

−3, 6, 9 

− 3 6; 9 − 3; (− 3 + 6) (9 − 6) 

 

− (− 3 ) + (− 6) + 9 

− 3 6 9  6 

− 3 6 − 3  6. 

 9 − 3 9  − 3. 

 − 3 + 6 3 

  9 − 6 3 

 (− 3 + 6) = (9 − 6)

− ( − 3) + (− 6) + 9 

 = + (−3  − 6 + 9 

 = + 3 − 6 + 9 

 = + 12 − 6 

 = 12 + (6 

= 12 – 6 



 = 6 (Ans.) 

− 3 6 (− 3) 

+ (+ 6)

 

7 6 5 4 3 2 1 0 −1 −2 −3 −4 
 

0 3

− 3 − 3 6

3 − 3

6 (− 3) + 6 = 3

9 6

(+ 9) − (+ 6)

 

7 6 5 4 3 2 1 0 −1 −2 −3 −4 −5 −6 8 9 10 

 

0 9

+ 9

( + 9) − ( + 6) = 9 + (− 6), + 

6 − 6 9 + (− 6)

+ 9 6

+ 3

(+ 9) + (− 6) = 3  

(+ 9) − (+ 6) = 3. (Ans.)

 AwZwi³ m„Rbkxj cÖkœ I mgvavbt Abykxjbx 3.3 Gi Av‡jv‡K 



−8 − (−10) 

−10 

− 8 

  

−8 − (−10) 

− 10 + 10 (Ans.) 

− 8 (+10) − 8 + (+10) 

  = − 8 + 10 

  = 2  (Ans.) 

 

− 8 − 7 − 6 − 5 − 4 − 3 − 2 − 1 0 1 2 

 

0 8

−8 −8 

10 2

 − 8 − (−10) = 2 



+7 + (−4) 

+7 −4

+7 (−4) 

  

+ 7 = − 7 

 − 4 + 4 

+ 7 − 4

+ 7 − (+4) 

 = 7 − 4 

 = 3 (Ans.) 

+ 7 + (−4) 

 

 

− 4 − 3 − 2 − 1 0 1 2 3 4 5 6 

 

7 

7

7 7

4 3

+ 7 + (−4) = 3 (Ans.) 





 (−6) + (+3) 

+ 3 

−6 +3

  

(−6) + (+3) 

+3 3 

+3 −3 

 −6 +3

− 6 + (−3) 

 = − 6 − 3 

 = − 9 (Ans.) 

(−6) + (3) 

 

 

−6 −5 −4 −3 −2 −1 0 1 2 3 

 

6

−6 −6

3 −3

−6 +3 (−6) + (+3) = −3

(Ans.)



 (−6) (+11)

(−8) − (−10)

  

(−6) (+11) 

 
 

−6 

 

−4 −3 −2 −1 0 1 2 3 4 5 6 7 8 9 10 11 

 

 

 0 6

−6

0 11

11

−6 +11

(−6)  = (+6) 

 (+11) (−11) 

 (+6) (−11) (+6) + (−11) 

  = 6 − 11 

  = − 5 (Ans.) 

 

−8 −6 −5 −4 −3 −2 −1 0 1 2 

 

0 8

−8 −8

−10 10

2 (−8) − (−10) = 2 

(Ans.) 



 (−2) + (− 5)     (−2) − (−5). 

2 5

  

2 − 2

5 − 5 Ans.) 

(−2) − (−5) 

 = (−2) + (−5

− 2 + 5 

 = 3 

 3 (Ans.) 

(−2) − (−5) = 3 



 (− 2) + (− 5)

= (− 2) − (− 5 

 = − 2 − 5 

 = − 7 

 − 7  3

(−2) + (−5)  (−2) − (−5) 

  (−2) + (−5)     (−2) − (−5). 

  (Ans.) 

 

 



 (− 21) − (− 10)     (− 31) + (− 11)

 

  

(− 21) − (− 10) 

  = (− 21) + (+ 10)

  = − 21 + 10 

  = − 11 (Ans.) 

− 11 

 (− 31) + (− 

11) 

  = − 31 − 11 

  = − 42 

 − 11  − 42 

 (− 21) − (− 10)  (− 31) + (− 11) 

 (−21) − (− 10)     (− 31) + (− 11) 

   (Ans.)



+ 5, − 4.

  

+ 5 −5 (Ans.)

−4 +4 (Ans.) 

(−5) − (+4) = − 5 − 4 = − 9 (Ans.)

−5  +4

(−5) − (+4)  
 

− 9 − 8 − 7 − 6 − 5 − 4 − 3 − 2 − 1 0 
 

1 2 

0 5

−5

−5 − (+4) = −5 + (−4), +4

−4 − 5 + (−4)

−5 4

−9 − 

5 + (−4) = − 9

−5 − (+4) = − 9 Ans.



200

150 40

50

  



200 + 200

150 + 150

40 − 40

50 −50

(+200) + (+150) + (− 40) + (−50) 

 = + 200 + 150 − 40 − 50 

 = + 350 − 90  

 = + 260 

  260 (Ans.) 

40 −40

+ 40



(+200) + (+150) + (− 40) + (+40) +  (−50) 

 = + 350 − 40 + 40 − 50 

 = 350 − 50 

 = 300 

  300

(Ans.) 

AwZwi³ m„Rbkxj cÖkœ  I DËims‡KZ   



− 2, − 6, 8, 14.

(− 6) (− 2)

− 4 6 

 



− 6, + 3.

− 6 + 6 + 3 

−3 9; + 9



eûwbe©vPbx cÖkœt 

mvaviY enywbe©vPwb cÖ‡kœvËi 

 −8−(−15) 

 +7 L −7 M +9 N −7 

 

 0  − 1 L − 1  0 M 0 = 1 N −1  0 

  (−10) (−12)

K − 2  +2 M −5 N +5 

 (−9) +  = 0

K − 9  + 9 M 0 N 10 

 9 + (−6)

 3 L −3 M 15 N − 15 

 −5 3

K 2  −2 M 8 N −8 

 (−4) 

K 1 L −1  4 N − 4 

 50−(−10)  37 + (−3) 

K =   M  N ≤ 

 0 4

K − 4 L − 8  4 N 0 

 −9 −2 

K − 7 L 7  −11 N 11 

 75 + (−5) + (−12)

K 30  58 M 45 N 50 

 (− 8) − (+ 8)

K 16 L 8 M 4  − 16 

 (−8) − (+8) = − 8 + (−8) = − 8 − 8 = − 16 

 12 − ( + 3)  

K 6 L 7 M 8  9 

  (− 4) − (− 14)

 + 10 L 0 M − 18 N + 18 

 − 7 − (− 10)

K − 3  + 3 M 17 N 71

  (−12) +      = 0 

K 0 L − 12  12 N 21 

 (−12) + 12 = − 12 + 12 = 0

 + 12

 

     − 15 = − 10

 + 5 L + 25 M + 15 N − 5 

 + 5 − 15 = − 10; + 5

      + (−35) = 44

K − 9 L 9 M 97  79 

        + (− 35) = 44        − 35 = 44 

       = 44 + 35        = 79 

  (− 7) − (   ) = 0 

K 7  − 7 M 1 N 0 

  (− 4) + ( − 6)        (− 3) − ( − 5)         

K = L    N  

 (−4) + (−6)     ( − 3) − (− 5) 

  − 4 − 6      − 3 + 5 

   − 10    + 2 

   (− 4) + (− 6)    ( − 3) − (− 5)

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 i. (−10) (−12) + 2

ii. − 6 − 6 

 iii. 70 − (−15) = 85 

 

K i  ii  i  iii M ii  iii N i, ii  iii 

 i. (−3) (+3) −6

ii. (−7) − 9 − (−25)  9 

 iii. (−8) +     = 0     = 8

 

K i  ii L i  iii M ii  iii  i, ii  iii 



 i. −3 − (+3) = (− 3) + (+3

− 3 + (−3)

−6

ii. (−7) − 9 − (−25)  −7 − 9 + 25 = 9  

  iii. (−8) + (+8) = 0

Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

−6, −9, 6, 8 

 

K −6  −9 M 6 N 8 

 

K −6, −9, 6, 8  −9, −6, 6, 8 M 8, 6, −9, −6 N 6, 8, −9, −6 

55 − (−10)     47 + (−3) 

 

K 45 L − 55  65 N − 65 

 

K 40 L − 40 M − 44  44 

 

K =   M  N  

−

 

− 3 − 2 − 1 0 1 2 3 4 5 6 
 

 

 + 6 L − 6 M 4 N − 4 

 

K 4 L − 4  2 N − 2

 

 4 L − 4 M 2 N − 2

 6 − (+2) = 6 − 2 = 4 



 Aa¨vq mgwš̂Z cÖ‡kœvËi  



0, 7, −2, 3, −5, −10

7

−7 −10, −5, −2, 0, 3, 7 



 (− 3) + (− 6)     ( − 3) − ( − 6)

− 3 − 6

− 3 3 − 6 

6 − 9 ; (− 3) + (− 6)    

( − 3) − (− 6) 



+15, +4, − 8

11 0 

  Aa¨vq mgwš̂Z m„Rbkxj cÖkœ I mgvavb 



− 10, + 7, + 5, − 85. 

+5 +6 +7 −5 −4 −3 −2−1 0 +1 +2 +3 +4−6 −7 +8 +9 



  

−10, +7, +5, −85 

= (−10) + (+7) + (+5) + (−85) 

  = (−10) + (−85) + (+7) + (+5) 

  = (−95) + (+12) 

  = − 95 + 12 

  = − 83 (Ans.) 

2 3 4 −8 −7 −6 −5−4 −3 −2 −1 0 1−9 −10 5 



10 −10

−10 5

−5

= (−10) + (+5) = −5 (Ans.) 

+7 −10

7 +7

10 −3

 = (+7) + (−10) = − 3 (Ans.) 



−3, 0, 4, − 5 

−5

−3

−5

  

(i)

(ii)

−3, −5 



0, 4

−5 

 5

−5

−3 −2 −1 0 1 2 3 4 5 −4 −5 



−3 −5

2 3 4 −6 −5 −4 −3−2 −1 0 1−7 −8 5 



0 3

−3 −3 5

−8 −3

−5 (−3) + (−5) = − 8 (Ans.) 



17, − 8, 15, − 10.

  

17 − 17

− 8  8

17 + (−8) + 15 + (−10) 

  = 17 + 15 + (− 8) + (− 10) 

  = 32 + (− 18) 

  = 32 − 18 

  = 14. (Ans.) 

17 + (−8) 

  = 17 − 8 

  = 9 

 15 + (−10)

15 − 10

5

 9 − 5 = 4. (Ans.) 

 



+ 6.

  

 
− 6 − 5 − 4 − 3 − 2 − 1 0 1 2 3 

 

4 5 6 7 

+ 6

− 6 (Ans.)

(+ 6) − (− 6)

+ 6 + 6

+12 (Ans.) 

 

− 8 − 7 − 6 − 5 − 4 − 3 − 2 0 1 2 
 

3 4 5 6 7 8 9 10 11 12  

 0 6 + 6

0 − 6 0

6 + 6

6 + 12 + 6  

− 6 (+ 6) − (− 6) = + 12

  



+ 60, − 50, − 60, + 50, + 30, − 30. 



  

− 50 50.

− 60 60.

− 30 30.

(− 50) + (− 60) + 

(− 30)

  = − 50 − 60 − 30 

  = − 140 (Ans.) 

−140  

 

(+ 50) + (+ 60) + (+ 30) 

 = + 50 + 60 + 30 

 = + 140 (Ans.) 

  − 140 − (+140)

  = − 140 − 140 

  = − 280 (Ans.)  



− 7 − 3.

  

− 7 − 3

 
− 6 − 5 − 4 − 3 − 2 − 1 0 1 2 3 

 

4 5 6 7 8 − 7 8 
 

(− 7) + (− 3)

  = − 7 − 3 

  = − 10 (Ans.) 

 

 
− 6 − 5 − 4 − 3 − 2 − 1 0 1 2 3 − 7 − 8 

 

− 9 − 10  

− 7 − 3

−

 

− 6 − 5 − 4 − 3 − 2 − 1 0 − 7 

 

0 7 −7 

− 7 − (− 3) = − 7 + 3 − 3

3 − 7 + 3

− 7 3

− 4

− 7 + 3 = − 4

− 7 − (− 3) = − 4 (Ans.) 


